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Overwhelmed by the beauty of which of the following forts did British Historian James Tod say that - if he was
offered a jagir in Rajasthan, he would choose that fort ?

(A)  Chittorgarh Fort (B)  Taragarh Fort

(C) Bhainsogarh Fort (D)  Nahargarh Fort

(E)  Question not attempted

frforfia # & forer fopet <1 Hatam & STy gt forfee sfaemasrr sivd 2T = et fof, “aife 3we Trstearr # forelt STt sht

TR AT ST, G o8 34 fohed bl <11 2

A) Toriteme fora (B) TRITE feha

(C)  dTg foper (D)  TETTg fehett

(E)  oFdia s

Which language is spoken in the areas of Banswara, Dungarpur and the nearby hilly areas?
(A) Hadoti (B) Mewati

(C) Vagri (D)  Shekhawati

(E)  Question not attempted

STAATST, SR ST 36 ATHUTE o TETST &1 H i ©T ST St St 82

(A) =T (B) Tt
(C) amTEt (D) SEmErEr
(E) orfaia s

In which year was Kalbelia dance form included in UNESCQO’s intangible heritage list?
TS (AT T T T bl Ieeh! ht 3 forred et # for o o wfvmfora foram mam o
(A) 2008 (B) 2009

(©) 2010 (D) 2011

(E)  Question not attempted / 34@?110{'6 949

forer wmme © ft ug were B €2

(A) RivE (B)  dcqed
(€) wghfe D)
(E)  oFdia

T3 21T e 3 370 H NG ST AT e SR -

(A) digd I (B) wyem
(C) Fad T (D) aTES digd I
(E) ordiaws

TIH O ShI-HT Y2 I h1 qAtHa= T 82

(A)  dEw B) g&
(C) g (D) SfEARE®
(E)  oFeia
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7 TR IdwwEfuTed:
HU - 1 : Torr Fagt =1 e farom 2 wemey & g forarm st 21
HUT - 11 : Torm Tergl o Tetd w2 & 379 &1 31 off 71 v 2
ST FHAT o ST H TR fohedl § § Aaifads 3ug a4 :

(A) AT AT AT T & (B) U I 3 11 SH1 7T &
(C) FAIEEE, T 1T e | (D) %A 17T &, T o 11 T 2
(E) raRduy

8 628,429, 183,249, 416
From the above sequence of given numbers, what is the sum of the unit digit of third number from left and tens digit
of the fourth number from the right?
SO & Tt HEATeY o R |, 19 O of T T <l HEAT o gohTS 3ok of S © T T shl HEAT o <-TS 37k ohi AN 872
A) 3 B) 5
© 7 D) 6
(E)  Question not attempted / S:EIDH'P{_CT B e

9 Sushil is the son-in-law of Bhumi’s maternal grandmother Sangita. Ravi is the only son-in-law of Bhumi’s mother.
How Ravi is related to Sangita?
(A)  Grandson (B) Uncle
(C)  Husband of granddaughter (D)  Brother-in-law

(E)  Question not attempted
giter fi <1 A1t ST o1 Te 21 T Ao AT AT T Uk W1 SIS 8 e A 8 b w2

(A) = (B) 3fat
(C)  dnft =R dfd (D) FEEEr
(E)  oFeia

10 If ‘threat’ is coded as 289512, then ‘BRIDGESTONE’ will be coded as:
Ife ‘threat’ o1 i€ § 289512 =3k {1 ST 8, @1 ‘BRIDGESTONE’ 1 %1€ BIT:
(A) 27947513855 (B) 29947612955
(C) 28947612855 (D) 29947512655
(E)  Question not attempted / ﬂﬂﬁﬁﬁ Bkl

11 In Rajasthan putting a gold nail between the teeth is known as:-
(A) Daamna (B) Baari
(C)  Choonp (D) Borla
(E)  Question not attempted

TSTEAT | 2t o o= | H 3l it ST sl el Shl 3T Shal STIdT 82

(A) TEAT (B) @RI
(© =u (D) ST
(E) ordiaws
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12 In which Rajasthani folk dance, dhol, bankiya and thali are used as the main instruments?
(A)  Ghudla (B) Chang
(C) Dandiya (D) Gair
(E)  Question not attempted

TSEAT o o8 Sl T H @I, ST ST Tt 3hT SR e STl o &9 H [T ST 87

(A) Hsetl (B) =
(C) sifear (D)
(E)  oFeia

13 Where is Nataniyon Ki Haveli situated?

(A)  Jhunjhunu (B) Churu

(C)  Jaipur (D) Lakshmangarh
(E)  Question not attempted

eTiOr ol geret! shel qT ferd 22

A ¥ B) T

(€) SREE (D) IEHITTE

(E)  oFdia

14 Who among the following established mobile reading rooms and libraries at various places in Rajasthan?
(A)  Pt. Jhabar Mal Sharma (B)  Acharya Tulsi
(C)  Swami Keshwanand (D)  Komal Kothari
(E)  Question not attempted

frferiiaa 5 @ forar Trstearr o forfi= et ot Aisger (ST w0 U qederrer sht LT shi?

(A) ufved gme oet st (B) AT ol
(C) Tl hIrETe (D) e FBH
(E)  oFeia

15 Which of the following leaders led the Bijolia movement?
(A)  Vijay Singh Pathik (B)  Chuna Ram Punia
(C) Kanwar Vijay Pal (D)  Surendra Singh
(E)  Question not attempted

Freferfia 1 & e Foriferm stidier a1 qed faem?

(A) oo oz it (B)  =mTTH U
(ORI =EEphi] (D) wiEfde
(E)  oFeia

16 Which of the following sector plays most important role in the economy of Rajasthan state?
(A)  Industry Sector (B)  Health Sector
(C)  Agriculture Sector (D)  Education Sector
(E)  Question not attempted

TSI TS 8 30 § 9 19 |7 &, 3Tcaferes &9 & 1ol Taed shi 71T SITar 82

(A) SEmEE (B) T&Ted &
(C) Hmaw (D) farer &=
(E)  oFeia
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17 Which of the following are cash crops of Rajasthan state? (Choose the most appropriate option from below)
(A)  Cotton and Tobacco (B)  Tea and Sugarcane
(C)  Coffee and Cereals (D)  Soyabean and Cocoa
(E)  Question not attempted

ForeAferRerd & & 1 ©ff ST T shl A (3h) et 87 (R o 9 el SR e <)

(A) U IR TFH (B) =R IR I
(C) I 3T AN (D) EHRITS( 3R i
() oFfdia s
18 Frafafad & & snfsefier 3% w7 8-
(A)  FSfifasrr (B)  eAfSIfarehT
(C)  srsfifore (D)  efififereT
(E)  oFeia
19 ST I FH-81 AR IIE 22
(A) YA Sl Ui SRt AT U sheiet foreh| (B)  ©FYA Sl Ui Rt AT U heiet ferehl|
(C)  OFITATH 1 Ueh shale] AT Ut 1T fefehl| (D) =A™ sl Ui gfeEt 37 ute sheret fareh|
() Srgdiays
20 FEf-1 % | -1 o T shifsm)
-1 Teit-11
a.  hotd dledl I EdwEET
b. T AT AT AT . GFER ST SFHTE T
c. W YFA . s foran
d. el ST BHT Iv.  dfd o
it fow e fereredt o @ waiferes U I T SR ShIfSU:
(A) a-MLb-ILc-1V,d-1 (B) a-IV,b-ILc-1,d-1II
(C) a-IL,b-1V,c-II,d-1 (D) a-MLb-1V,c-1I,d-1
(E) IraRduy
21 T o o forw o o St feat o STt et ot Srireft @ & I ot o Sevd | I WA i <1 &l 1 afier T 82
(A) Tt fearfEm, 1963 (B)  TrStTST AT, 1967
(C) Tt 9w, 1973 (D) T e, 1976
(E) oFfdia s

22 Who was awarded Major Dhyan Chand Khel Ratna Award 2022 for Table Tennis?
(A) Kamlesh Mehta (B) Manika Batra
(C)  Sharath Kamal Achanta (D)  Soumyajit Ghosh
(E)  Question not attempted

Torer RaeTel 1 oot 2T o WOl €T =i W T UL 2022 S&T fohaT T2

(A)  FHHAI T (B)  HfepT =T
(C)  YRA A AT (D) HrESid =y
() SAgaiayy
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23 Which one of the following is rnot a Fundamental Right under the Constitution of India?
(A) Right to Education (B)  Right to Property
(C)  Right of Equality (D)  Right of Freedom
(E)  Question not attempted

FATIRET H | 9 |1 WRATS |l o q8d HifoTeh SRR T8 87

(A) e =1 Srfersm (B)  Hufe T TR
(C)  EHTAT T SRIHR (D) AT T HATTHR
(E)  oFeia

24 Salt water crocodile is main fauna of which of the following biosphere reserves?
(A)  Simlipal (B)  Great Nicobar
(C) Kutch (D) Panna
(E)  Question not attempted

@ T i s, fefaiad § & o Siered froe w1 e sfta 82

(A)  Toafeare (B) ¥ frEm
€ == (D) =T
(E)  oFdia

25 Which among the following is the longest river of Rajasthan?
(A) Chambal (B) Luni
(C)  Sabarmati (D)  Khari
(E)  Question not attempted

fafetRaa & & geteum i ged ol 7e wi €t 22

(A) =& (B) <
(C)  HrsRAdT (D) @/
(E)  oFeia

26 The Thar desert comprises the desert triangle of three cities - (Choose the most appropriate option from below)
(A)  Jaisalmer - Jodhpur - Barmer (B)  Bikaner - Jaisalmer - Pali
(C) Bikaner - Jaisalmer - Barmer (D)  Jaisalmer - Jodhpur - Bikaner

(E)  Question not attempted

R YR H i STt o1 LRTETT Brepior et &, a8 © - (e | O wer Swqeh forehed <)

(A)  SHEHT - ST - STSHT (B) SR - SFHQIER - UTedt
(C)  SIhT - ST - SIS (D) SIHTH - S - ST
(E)  oFeia

27 Barkana water falls is situated in which of the following state of India?
(A) Karnataka (B) Goa
(C) Tamil Nadu (D) Odisha
(E)  Question not attempted

faeferfaa a=at °§ @ v o forer T | SR STeyaTd o 82

(A) FAH (B) AT
(€) dHerTg (D) 3Afem
(E)  oFeia
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28 Which of the following mineral is non-metallic and inorganic?
(A) Natural Gas (B) Coal
(C)  Petroleum (D)  Graphite
(E)  Question not attempted

fFfafad & @ = g afist sranfeass va T 87

(A)  YTHiTH T4 (B) e
© e (D) I%EE
(E)  oFdia

29 Which of the following is not a type of Iron ore?
(A)  Siderite (B) Limonite
(C)  Magnetite (D) Lignite
(E)  Question not attempted
frefefiad o & 9 Tiie 371 1 THR 781 22
(A) e S (fetse) (B) fomrmse
(€) FmemEE (D) fore
(E) oFfdiays

30  The length, breadth and height of room are 12 m, 9 m and 8 m respectively. The length of the longest bamboo pole
that can be placed in it, is:
(A) 19m (B) 18m
© 17m D) 15m
(E)  Question not attempted

Uk FAT 12 Y o, 9 oY wier 37 8 i e ) 3UH W ST Uk a1l 19 o S8 Shl SATehan TielTs J1d hifig |

(A) 194t (B) 18
(©) 174 (D) 154
(E) oFfdia s

31 The inner circumference of a circular path around a circular lawn is 660 m. What is the radius (in meter) of the outer
circumference of the path, if the path is 14 m wide?
(A) 110m (B) 119m
(C) 115m (D) 84m
(E)  Question not attempted

T AR ST o ST ST Iqera shi HAqien qir 660 et 21 afe vy 14 et =igr &1 di gwsh aer qifer hi frsa,

(e ) = Eft?
(A) 110" (B) 119#xX
(C) 115#X (D) 84 HX
(E) oFdia s

32 A shopkeeper sold an article for ¥ 400 at a loss of 20%. At what price he should sell the article to make a profit
of 10%?
Tk GhAER A fohel =&q I 20% T BT T 400 H STl 10% 1 W FAM o oI, I§ 36 9% 1 fohd shied o
ST =TT
(A) 550 B) T 500
(©) 520 (D) 530
(E)  Question not attempted / 311?!'&?[ BE)
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33 Which of the following is the application of computer mostly used in medical field?
(A)  To create advertisement (B)  To visualize 3D objects
(C)  To provide distance education (D)  To provide assistance in surgery

(E)  Question not attempted

frfafaad 5 & et i SH-81 Tflen Je: fafre & & deifaa 22

(A) TR TGS AT (B) 33 JATeoidcd sl T TG
(C)  oTey TRnef Ya™ e (D) e Tarfshean o wemar 1
() oFfdia s

34 Which of the following is not the class/category of computers?
(A)  Micro Computer (B)  Mini Computer
(C)  Mainframe Computer (D)  Parallel Computing
(E)  Question not attempted

TfcTiia © & -t et & /20 § 787 22

(A) TR FF (B) frft e
(C)  FTRH FFL (D) tHetet Frefen
(E) raRauy
35 Which Indian has won the 2023 Ramon Magsaysay Award? (Choose the most appropriate option from below)
(A) Kailash Vidyarthi (B)  Ghazal Alagh
(C)  Gautam Adani (D) Ravi Kannan

(E)  Question not attempted

fore e =¥ 2023 o1 WA HE GRERR SHAT? (R 3 & were IRy forshed =)

(A) et forameff (B)  TIIeA 3T
(C)  itaqw ST (D) WrF=m
(E) oFfaiays

36 Who was the Deputy Prime Minister and first Home Minister of Independent India?
(A) Mahatma Gandhi (B) C. Raj Gopalachari
(C)  Sardar Vallabhbhai Patel (D) Rafi Ahmad Kidwai
(E)  Question not attempted

T WA o T8l JU-TTHAT 37 T8 W5l &l o2

(A)  wTeHT Tieft (B) ©I. U< MUTATERY
(C)  HEH SeTHTE T (D) Tl 37eweE foheas
() SAgaiays
37 After the partition of India in 1947, which of the following archacological sites remained on the Indian side ?
(A) Harappa (B)  Mohenjodaro
(C)  Gunveriewala (D) Kalibangan

(E)  Question not attempted

1947 T 9T o fordTeM o a1e fefofiaa 5 & i |1 qarfcash Soe TRd o a0 o & § 18 T 2

(A) g (B) HIESiigs!
(C)  Tiadarar (D) AT
(E) Aaia 9%

N
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38  Who is the family deity of Bikaner royal family?

(A) Karni Mata (B)  Jeen Mata
(C)  Sakraya Mata (D) Aai Mata
(E)  Question not attempted
I ST TSTTIE i Feraelt 82
(A)  FTOft AT (B)  ShurHmEr
(C) U™ Hrar (D) A HTET
(E) oFfdiays
39 As per the Constitution of India, the name of a state in the Union of India can be altered by -
(A)  Cabinet Committee (B)  Governor
(C)  President (D)  Parliament

(E)  Question not attempted

I o T 3 STET, Tefr v o foreft Troar st Fferfiaa o & foress g afeafd fopa St essar 22

(A) Hfrded wfufd (B) TsIUA
(€) rgafa (D) @
(E) raRduy
40 When was Rajasthan Information Commission constituted ?
(A)  April 18,2005 (B)  April 18,2006
(C)  April 28,2005 (D)  April 28,2006

(E)  Question not attempted
TSTET F2T ST 31 T3 el GHT?

(A) 1831, 2005 (B) 1831, 2006
(C) 28 3T, 2005 (D) 28 3T, 2006
(E) raRduy

41 Which of the following position is not mentioned in the Constitution of India?
(A)  Prime Minister (B)  Chief Minister
(C)  Deputy Chief Minister (D)  Loksabha Speaker

(E)  Question not attempted

frefefad § @ H-8 ug 1 YR @iaem § Scorg 78t 5 T 82

(A)  TEEHEA (B) HEIHA
(C) Sy gEIwH (D)  ARET STeE
(E) raRduy

42 Who among the following commonly serves as the Chancellor of State Universities?
(A)  Prime Minister (B)  Minister of Education
(C)  Chief Minister (D)  Governor
(E)  Question not attempted

frefeafaa o & wrr: i sa foraferaera o spamtofe o &9 5 R i 82

(A) STt (B) T
(©) e (D) TSI
() SAgaiayy
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43 Given below are two statements:
Statement (I): In April 1919, the Udaipur state government formed a Commission under the chairmanship of
Mandalgarh Hakim Bindulal Bhattacharya, in order to listen to the Complaints of Bijolia farmers. The Commission
advocated various recommendations for the benefit of the farmers.
Statement (II): Officers of the Foreign Ministry of Indian govenment believed that a quick alliance should be made
with the Bijoliya Kisan Panchayat, otherwise the peasant movement may take a violent form in Rajputana.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Both Statement (I) and Statement (II) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C) Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

e 3 e lRw T E:

e (I): forsTifera forai =it oeatl 2l G o o, Se sht TS Fehi 3 31U 1919 H, Tsh STRINT ] 713 HUSHTS
ETehI foregetTel Wgremal shi STererdl 5 iad fefam AT = fohami o fed o foeTe s1eh srgeramd <

AT (11): T GTHR o TR HaATer o SATehTI sh1 A1 o1 fof forstifora fopam demra & st sh e ST shi
ST ST TS H TR e T feTere &9 o e 2

IR T 6 AT |, = QT el #§ & ward 3uges I 4|

(A) A (1) 3R HeH (11) ST T 2 (B) A (I) 3R e (11) ST &1 et &
(C) e (1) W&t & AR e (1) Tetd 2l (D) % (1) TTeTd & Afeh e (I1) | 21
(E) oFdia sy

44 Who of the following social reformers was associated with the abolition of Sati Pratha?
(A)  Vivekanand (B) Dayanand Saraswati
(C) Raja Ram Mohan Roy (D)  Govind Ranade

(E)  Question not attempted

FrfeAfiaa gwTst gomes § § 9 |l o1 39T o |19 g 5T A?

(A) faawrg (B) SIS Tl
(C) TSI T Higd T (D) T TS
(E) oFgdia s

45 “The Indian War of Independence”, book was written by whom?
(A) Mahatma Gandhi (B) R.C.Majumdar
(C) Baba Amte (D)  Veer Savarkar

(E)  Question not attempted

g gfea a3 Sfetew, qeae foraeh g foredt g2

(A) T et (B) TR Y. AR
(C) e e (D) = aTEER
(E) oFdia s

46  In which of the following year United Nations adopted the UN guidelines for consumer protection?
g a1z 3 o @ For 4 ity s 3 fora e g 3 e et o st
(A) 1979 (B) 1981
(C) 1983 (D) 1985
(E)  Question not attempted / ﬂﬂﬁﬁﬁ Bkl
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47 Which among the following organizations control the business of Insurance in India?
(A) RBI (B) LIC
(C) IRDAI (D) SEBI
(E)  Question not attempted

FfTRaa 5 & i € e W H ST ST i FHER w22

(A) SRSt ST, (B) TS . H,
(C) T8, IR &I T, . (D) &l
(E)  oFdia s

48  NITI AAYOG was established on: (Choose the most appropriate option from below)
(A) 1t January, 2014 (B)  15™ August, 2014
(C)  15™ August, 2015 (D) 1%t January, 2015

(E)  Question not attempted

it ST 6 T 6t S oft: (P H @ we U foeed <)

(A) 1SHad, 2014 (B) 15374, 2014
(C) 15374, 2015 (D) 1SFad, 2015
(E) oFfdiays

49 Which of the following statement is not correct about the Tertiary Coal?
(A) Itis also known as the brown Coal.
(B) Itis an inferior quality Coal.
(C) It contributes to about 25% of the total coal production of the country.
(D) Itis found in the rocks of the oligocene period of the Tertiary Era.
(E)  Question not attempted
Frefaifaa & @ =9 1 e qoieeh s & da o T8l 78 22
(A) 38 SO SRR o A7 & I ST ST 2
(B) I o TIUTerelT 3T I BrelT 2
(C) T T FeA AT ICATEH | 25% T SIS T 2
(D) I AT I o6 HTICHIITE et sh! TgMI & qra ST 2

(E)  oFdia s
50  Karewa formation are useful for the cultivation of .
(A)  Zafran/Saffron (B)  Cotton
(C) Jute (D) Coffee
(E)  Question not attempted
T ST (BIATH) foheeht Tt 3 forg swamft 22
(A)  FE (B) HU™
€ SE (D) I
(E) raRduy
51 Which of the following river is right bank tributary of the Ganga River System?
(A) Ramganga (B) Son
(C) Gomti (D)  Ghaghara

(E)  Question not attempted

frmforfiaa o & =i it e, 7 et yorredt i arfeet Terre 46t 22

(A) THTm (B) @H
(C) Tt (D)  ETERT
() SAgaiayy

All] 11 [ P.T.O.



52 Son river is a tributary of which of the following?

(A) Ganga (B) Yamuna
(C) Mahanadi (D) Narmada
(E)  Question not attempted

A e H @ foreeh! agTees 14t 82

(A) T (B)
(C) wHEM&l (D)  Har
() SAgaiayy

53 The Southern most Himalayas are known as
(A)  Shiwalik (B)  Himadri
(C) Himachal (D)  Aravali
(E)  Question not attempted

YL (W) feor TeHTer™ shi forer T & ST Sfrefm @ 2

A) fenfas B) femmh
() Teama (D) STEAT
(E)  oFeia

54  Which one of the following is the oldest oil refinery in India?
(A)  Mathura refinery (B)  Koyali refinery
(C) Digboi refinery (D) Haldia refinery
(E)  Question not attempted

fF=fafad & @ v it aEiFag 9 et Hia-E R 2

(A)  wyU ferd (B) et frprgTl
(C) femas frprgTd (D) &fogar frer
() SAgaiayy

55 ‘Doddabetta’ is the highest peak in Tamil Nadu. This is a part of which of the following famous mountain range?
(A)  Nilgiri Mountains (B)  Aravali Mountains
(C)  Satpura Mountains (D)  Pir Panjal Mountains
(E)  Question not attempted

TISEET AMHAATE hl T I=aqw A1l ol T8 T 1 8 -6t Ifg, Teidt 2 T Tk Wi 22

(A) AR wEaq (B) 3Eel qad
(C)  wagel yerrsar (D) i T v
(E)  oFeia

56 Choose the most appropriate Hindi word for - “Endorsement”.
(A)  TIA R (B)  UBIHAT &
(C) Y&H&HEAT (D) S &ET
(E)  Question not attempted

All] 12 [ P.T.O.



57 Which of the following best describes the function of control unit?
(A)  Control the operations of memory, processor and input/output devices.
(B)  Perform the logical operations.
(C)  Convert the external data to form understood by computer.
(D)  Perform the arithmetic operations.

(E)  Question not attempted

frfeafiad o & i, Fhgier I o FRIT 1 Gaian Jui T 82

(A) TR, TR 3R SHIE/TSYE TR o6 TR i sor
(B) e aiETerd ol feame

(C) TR (THHEICT) STeT %l FPET HHE UH Ty H qiafdd
(D) AT afEer s fsare

() SFfdiayy

58  Which of the following facility is mainly provided by E-mitraplus initiative of Rajasthan?
(A)  To apply for birth certificate, domicile etc.
(B)  Payment facility for individual firms
(C)  GIS based Decision Support System
(D)  Video conferencing

(E)  Question not attempted

freAfeTfiaa # & i | Gl 7eq: T i 3-Freed gee SR Y& i St 82

(A) ST JHTOT O, STRIETE o T 3treed o (B) fafire ufammi <l srar sht gferem <
(C) it o1iE. ww. st Aol ek yomeft (D) difear kR
(E)  ordia g

59 Which of the following tax generates maximum amount of revenue for the Government of India?
(A) Income Tax (B)  Sales Tax
(C)  Custom Duties (D)  Corporate Tax

(E)  Question not attempted

Frfefad § & o 91 o, TRd SRR o foTT Hatferes Tsiee shT SUTSH hidT 87

(A) ST H B) fshra
(C) Himr3esh (D) i (@raie)
(E)  oFdia

60 Which of the following is outside the ambit of GST?
(A) Natural Gas (B)  Tobacco
(C)  Alcoholic Liquor (D)  Motor Spirit
(E)  Question not attempted

Frtferfie & & i e T d o B ey @ e 2

(A)  TeRfaeh | (B) dmh
(C) WEH (D) ared ffe
(E) oFfdia s

All] 13 [ P.T.O.



61 Which of the following is an example of joint sector industry? (Choose the most appropriate option from below)
(A) Hindustan Aeronautics Limtied (B)  Oil India Limited
(C)  Steel Authority of India Limited (D)  Bharat Heavy Electricals Limited
(E)  Question not attempted

rfTRa o & i | Hh & ITT ohT Tk 3aTew0l &7 (T H & Terdl 3uh forehed =)

(A) T wHiieH fafice (B) 3w fea fafies
(C) T 37Tt 3t sfean fafies (D) ¥Rd &t saifogency fafiee
() SAgaiayy

62 Which of the following is a mineral-based industry?

(A)  Textile Industry (B)  Fish Oil Industry

(C)  Petrochemicals Industry (D)  Food Processing Industry
(E)  Question not attempted

FfaRaa # & = |1 @i i e 2

(A) o= S (B) TS I

(C)  UgIchfirehet ST (D) T FHEHRTT ST

(E)  oFeia

63 Which of the following statement is not correct about the Chhota Nagpur Plateau Industrial region?
(A)  This region is popularly known as “Ruhr of India”.
(B)  This region extends over Jharkhand, Chhattisgarh and Andhra Pradesh.
(C)  Ranchi, Dhanbad, Chaibasa, Sindri are some important industrial centres of this region.
(D)  This region owes its development to being rich in iron ore from Jharkhand-Odisha and coal from Damodar
Valley.
(E)  Question not attempted
freafeTRa o & I |1 e BT AT 93K SfTElfier &t o wavl H wel el 27
(A) 98 &7 “9Rd & %eT”, 79 ¥ foeamd 2
(B) T &7 ARES, BTG I MY T qeh el T 2l
(C)  Th, urare, =mdaman, fiadt, 30 & o wecaul Sfenfies % 2
(D) 39 & T foreher FREe-STfewT § Tiie 37ereeh 31T aTHIat =1et 3 St § HE 6 o HRYT 31 2
(E)  oFeia

64 The concept of ‘equality before law’ is an element of the concept of ‘Rule of Law’ which was propounded by -
(A)  Paul Janet (B) A.V.Dicey
(C) Lord Acton (D)  Ivor Jennings
(E)  Question not attempted
ST o THE GHIAT ShT ST ‘T o TG 3h1 STTEROT T T dcdl & 39 ook S0 faiad foram 1 o2

(A) TS (B) wdl srgEt
(C) TRuFRA (D) SRS
() SAgaiayy

All] 14 [ P.T.O.



65 Match List-I with List-II.

List-I List-I1
a. Chipko Movement L Afro Asian Conference
b. Bandung Conference 1L A proposal made by big industrialists in 1944

for setting up a planned economy

c. Dr. P.C. Mahalanobis III.  An environment movement to prevent cutting
down of trees

d. Bombay Plan IV.  Economist under whose leadership the Second

Five Year Plan was drafted

-1 3 @t gefi-11 1 fre fifsg
-1 -1
a.  Toen STiee I - TR aR e
b. ST EEHTH L O T tefeerer ofid o o foTg 1944
4 S St g feRa T U e
c. LUt AeTeHioE 1. Uil eTg Ueh o [TT Teh TATeroT STiater
d. S V. STt fSiereh e o @l drefereTer 1o a1
HHIGT AT foa T o
Choose the most appropriate answer from the options given below:
e few e fereredi # & warfferes 3Ug ST |
(A) a-Lb-ILc-1V,d-1I (B) a-I,b-Lc-IV,d-1I
(C©) a-lLb-Lec-1V,d-1I (D) a-l,b-ULc-1V,d-1

(E)  Question not attempted / 3T VRS

66 The famous speech by Pt. Jawahar Lal Nehru, addressed on the midnight of 14-15 August 1947 is called
(A)  Tryst with destiny (B)  Tried with destiny
(C)  Tryst with honesty (D)  Tryst and Co-operation
(E)  Question not attempted
14-15 STTET 1947 i 7ex T 1 GiUSd SIATEL AT & GRI [T 7T TTHg A0 e ST @ -

(A) T fameie (B)  grge fore St
(€) foe fag simedt (D) foe wog H-UEE
(E)  oFdia
67  The cities that were divided into communal zones during the partition of India were-
(A) Lahore, Amritsar and Hyderabad (B)  Lahore, Amritsar and Calcutta
(C)  Amritsar, Calcutta and Jammu & Kashmir (D) Lahore, Bihar and Calcutta

(E)  Question not attempted

AT o fITSTT o R0 |i9eTies &5 § se 7T 7L 9:-

(A) CTER, THAEL 3N TS (B) CTEN, 31T T el
(C) TR, FHcTahal ST TH] FHIHIT (D) @TER, foem 3R wetshn
() SIgaiays

All] 15 [ P.T.O.



68 Which of the following is not a Kharif crop?

(A) Maize

(C) Gram

(E)  Question not attempted
Ffefad 9 € 9 U % %o 78 82
(A) TRl

() =

(E) orfaia s

69  Fill in the blank with the most appropriate option :
Tk T o wer 3 forere & Wit
9,28, 65, 126,
(A) 204
(©) 206
(E)  Question not attempted / S:EIDH'P{_CT )

70 In the given question, choose the number letter group which is different from the others.

T T 521 T 8 T S8R T T S S U A 2
(A) PH3

(©) JBS

(E)  Question not attempted / ﬂﬁﬁﬁ B

71 Select the related word from the given options :
Animals : Zoology :: Blood : ?
(A) Hematology
(C)  Anatomy
(E)  Question not attempted
feu U ot o | Gelford 3Teg o1 = ShifSe:
ST : Gﬂﬁﬂﬁ 2 h?
(A) e
(C) TARH
() oFfdia s

72w IO, O e et O forar sar R?

(A) STHTE
(C) I
(E) raRauy

All]

(B)  Pearl-Millet

(D) Rice
(B) @S
(D) 4
(B) 194
(D) 217

(B) XL2
(D) OE3

(B)  Pathology
(D)  Entomology

(B)  UeidArSir
(D)  TAZmEIATS

(B) HeAW gEY

Av)

(D)  JIHTE

Al

[ P.T.O.



Read the passage and answer the questions that follow: (Q. 73 to 76)

Show me a doctor who is not confused about nutrition and I will show you a doctor who has not kept up with research.
Though nutritionists like to claim that basic nutritional advice does not change from year to year, the truth is that each week
brings new studies, new research and new health warnings. Nor do all the studies agree with each other. Often they are
contradictory and further confuse lay people.

Part of the problem is that many studies are financed by the food industry, which has a vested interest in the outcomes. And
much of the so-called nutritional wisdom that has been propounded over the decades does not emerge out of pure science but
out of the commercial interests of those passing on the advice.

The most famous example of this sort of thing may be the rule - rigidly advocated by some doctors over the years - that
breakfast is the most important meal of the day. Skip breakfast, you will be told, and there will be damaging consequences
for your health.

You can trace the roots of the advice to (surprise, surprise!) the American cereal industry and to such food faddists as the
Kellogg family (owners of the eponymous cereal company).

It has always been a peculiarly Anglo-Saxon idea. People do cat breakfast all over the world but they do not necessarily
attach such great importance to it. Nor do countries without a breakfast tradition see a sharp decline in public health. For
instance, in France, breakfast may well consist of black coffee and a cigarette. The cigarette is not a good idea but the
absence of solid food in the morning doesn’t really hurt the French very much. Until the fast food industry spread all over
France in the last decade or so, the French had much lower rates of heart disease than most English-speaking countries.

In the US, the bogus breakfast orthodoxy has led parents to feed children sugary cereals and stuff like pancakes with sugar
syrup (often misleadingly packaged as maple syrup). There is finally a recognition that the breakfast-is-essential myth has
actually contributed to a decline in American public health, the obesity epidemic and to tooth decay. Manufacturers of
sugary cereals are quickly putting out new ‘low-sugar’ variations.

Some doctors still insist that the first meal of the day may be the most important. But the scientific evidence supports the

view that if you avoid breakfast nothing terrible will happen to you.

73 Complete the sentence by choosing the correct option:

In reality the benefits from advocating the need for taking breakfast.
(A)  general public (B)  French people
(C)  children (D)  food Industry

(E)  Question not attempted

74 According to the conclusion of the passage, breakfast -
(A) Is essential and not to be skipped. (B)  Skipping cannot harm you.
(C)  Is the most significant meal of the day. (D)  Contributes to an individual’s health.
(E)  Question not attempted

75 In America, obesity and tooth decay have assumed the proportion of an epidemic because of the -
(A)  Vested interest of the general public (B)  Consumption of sugary cereals.
(C)  Greek idea of breakfast. (D)  Consumption of savoury food
(E)  Question not attempted

76 Bogus means .
(A) False (B) Big
(C) True (D)  Confident
(E)  Question not attempted

All] 17 [ P.T.O.



77 Which of the following three years were declared as Plan Holidays from five year plans in India?
(A) 1957 to 1960 (B) 1961 to 1964
(C) 1966 to 1969 (D) 1969 to 1972
(E)  Question not attempted

T H Gaas (T It § 8 1 8 @ 9 & 6 au ol JIsHT STaemter sy {3 ma on?

(A)  1957@ 1960 (B) 1961 & 1964
(C) 1966 T 1969 (D) 1969 1972
(E)  oFdia s

78 Dr. Savita Ben Ambedkar inter-caste marriage help scheme was launched in the year-
1. W1 9 STISHL SN [9dTE FEIAT AT HTTRad § & ford a 5 STees 3h 1135 off?
(A) 2006 B) 2007
(©) 2010 (D) 2012
(E)  Question not attempted / 3‘135'1'&?[ i)

79 Rajasthan handicraft policy has come into force on .
(A) 17 September, 2022 (B) 18 September, 2022

(C) 20 December, 2023 (D) 23 November, 2023
(E)  Question not attempted
TSTET BYRTET il EA IRl
(A) 17 f&dsm, 2022 (B) 18 fadsw, 2022
(C) 20 fesw, 2023 (D) 23 &, 2023
() SAgaiayy
80 Which of the following facility is not provided by the Rajasthan Sampark Portal?
(A)  Grievance Redressal (B)  GIS integration and data analytics
(C)  Video-conferencing (D)  Automatic Speech Recognition (ASR)

(E)  Question not attempted

frfafiaa 5 & o € o Tewer Hueh 91ed g1 SeH TEt Al St 82

(A)  Tererrrat 1 e (B) St TS, UH. TR 3T 3Tishel T forsgmor
(C) e w=hiem (D) e wie fermfee (ASR)
(E)  oFdia s
81 Which of the following two states have a joint plan under Mahi Project?
(A) Rajasthan - Madhya Pradesh (B)  Rajasthan - Punjab
(C)  Rajasthan - Gujarat (D)  Rajasthan - Haryana

(E)  Question not attempted

freaferiiea o @ for <1 Tl o Hret GRS o S FISHT 82

(A)  TSTEIM - 7Eg YT (B) TS - GsTTel
(C)  TSTEA - TSI (D) USRI - g
(E) g ys
82 The characteristics of computer in which, computer can perform different types of tasks with the same ease is
known as:
(A)  Speed (B)  Versatility
(C) Reliability (D) Diligence

(E)  Question not attempted

S I 7 FH-d fafirear 2, e shegex fafi werm 3 it ot grmmar & freres s 22

(o) Tfd (B)  EHd
(C) Tomeiaar (D)  wHadT
(E)  oFdia s

All] 18 [ P.T.O.



83 Which of the following is not a Constitutional Body?
(A)  Union Public Service Commission
(B)  Finance Commission
(C)  Election Commission
(D)  National Human Rights Commission
(E)  Question not attempted

T | S |1 Tk HAeien e e 82
(A) G AT TaT AT
B) formr s
(C) TS AN
(D) U HaTThR SR
(E) IraRauy
84 Which of the following language is not included in the Eighth Schedule of the Constitution?
(A)  Nepali (B)  Sindhi
(C)  English (D)  Santhali

(E)  Question not attempted

fmfafiaa 5 @ st = v s ot streelt stes & e T 22

(A) et (B) faeft
(C) st (D) Tt
(E) raRauy

85 Choose the most appropriate option from below to complete the sentence:
A formal letter concludes with a -
(A)  Subject (B)  Salutation
(C) Signature (D) Heading
(E)  Question not attempted

86 Fill in the blank by choosing the most appropriate option:

He was indignant being cheated by the smooth talk of the salesman.
(A) with (B) in
(©) of (D) at

(E)  Question not attempted

87 Change the direct speech into indirect speech by selecting the most appropriate option from below:
He said, “I do not wish to see any of you, go away.”
(A)  He said that he had not wished to see any of them and ordered them to go away.
(B)  He told that he did not wish to see any of them and ordered them to go away.
(C)  He said that he does not wish to see any of us and ordered us to go away.
(D)  He told that he did not wish to see us and ordered us to go away.
(E)  Question not attempted

88 Change the sentence into passive voice by choosing the most appropriate option:
They feed the seals at the zoo twice a day.
(A)  The zoo feeds the seals twice a day. (B)  They feed the seals twice a day at the zoo.
(C)  The seals are fed twice a day at the zoo. (D)  Twice a day the seals are being fed at the zoo.
(E)  Question not attempted

All] 19 [ P.T.O.



89 The simple interest of a certain sum of rupees for 8 years at 7.5% annual rate is ¥ 7500. What is the simple interest on

same sum for § years, if the rate of interest is increased by 2.5%?

afE 7.5% afder saTST hl QT H 8 N1 H Teh TINT YL T 7,500 FTETIT SATST SIaT &1 Tfe SHT ETIRT T SIS 2.5% ST {37 ST

qe 8 SINT H ST SITST T SRTT?
(A) T 20,000 B) T 12,500
(C) % 10,000 (D) T 12,000

(E)  Question not attempted / 3T e

90 S Ueh & T o & AT e &Y 191 3¢ ol 141 T b €A G hI9-97 T &l STaT 87

(A) BTEEH (B) dHwR
(C) STETH (D) TiwR
(E) oFgdia s
91 Geostationary satellites are positioned at km upward distance from earth surface.
FeR STIET a7 T et a & Toret o T 3 o form SfrerT 21
(A) 26000 (B) 36000
(C) 55690 (D) 45990

(E)  Question not attempted / 3T ERSE )

92 Concentrated nitric acid (aq) reacts with copper to give
(A)  Copper nitrate and hydrogen gas (B)  Copper nitrate, nitrogen monoxide and water
(C)  Copper nitrate, nitrogen dioxide and water (D)  Copper oxide and dinitrogen oxide

(E)  Question not attempted

TTs, A131eeh UGS (aq) ie (hTIT) T ATTRAT teh 3T 2-

(A)  FTHR AL T ETEZIH T (B) 1T ARLE, TS HFEES T Tt
(C) W ATELE, ATEZISH SrEATHITES U Tl (D) W SIS T TSI HTHTEE
() SFgaiays

93 Colour blind person is unable to discriminate between :
(A) Red and yellow colour (B)  Blue and red colour
(C)  Red and green colour (D)  Blue and green colour

(E)  Question not attempted

FUTTeeT (Tl SATSS) STh T TN o Te 9 i | 31aqe T g

(A) STt 3T e o7 (B) i i AT 1
(C) T SR TT (D) e iramar
(E) oFfdia s

94 Select the option that is related to the third letter cluster in the same way as the second letter cluster is related to the
first letter cluster.
et o 9 3w forered o1 = IS ST T 37er |eE § 36t R Heiferd @ o wepm Tt sver wve wom 1) v 9
Heiferd 2
WOUNDS : DNOSUW : : ALMIGHTY : ?
(A) AIGHTYLM (B) AIGHLMTY
(C)  AGHILMTY (D) GILHMATY
(E)  Question not attempted / 31@?!'?{?[ BES

All] 20 [ P.T.O.



95 How many numbers from 11 to 70 are there which are exactly divisible by 7 but not by 3?
(A) Nine (B) Five
(C)  Seven (D) Six
(E)  Question not attempted

119 70 H et foher=ft ST & ST 7 & Uil WIS 8 ] 3 § TWTST 82

(A) (B) ul=
(C) ¥ (D) BT
() SAgaiayy

15

96 On increasing the numerator of a fraction by 15% and decreasing its denominator by 8%, the fraction becomes B ,

the original fraction is:

afe e =1 o 3T T 15% STQT foam ST SR 590k 8T i 89 e foam Sime dt firey ot A % BRGNP CIEC R
T -

(E)  Question not attempted / 3T ERSE )

97 Amit, Sumit and Vinay divide an amount of ¥ 2800, amongst themselves in the ratio of 5 : 6 : 3 respectively. If an

amount of ¥ 200 is added to the share of each, what will be the new ratio of their shares of the amount?

Aftra, gt R fomar % 2800 T IR 5 2 62 3 o I1aTa & forwwfor st o 21 afe were o fewdr 7% 200 e feg g

1 TR H 3ok Tl 7 AT ST AT S
(A) 6:9:4 B) 6:7:4
) 7:8:5 (D) 4:5:2

(E)  Question not attempted / 3T e

98  The average of 11 observations is 50. If the average of first six observations is 40 and the average of last six

observations is 55, then the sixth observation is:

11 ST 7 37T 50 71,97 T8 B8 STl 1 6 40 2, 3R e BT STacieri w1 3Hq 55 2, q o1 STt
&

(A) 30 (B) 40

© 20 (D) 35

(E)  Question not attempted / 3‘1’:!)?!'&?[ I

99  Zinc reacts with dilute nitric acid (aq) to give

ffotfiaa wiawet o foTg STedT o AT3fee 31T (aq) & widfera 31§
(A)  Zn(NO,), + H,0 + N,0 (B)  Zn(NO,), + H,

(C)  Zn(NO,), + H,0+NO, (D)  Zn(NO,), +NO+H,0
(E)  Question not attempted / 3T ERSE )

All] 21 [ P.T.O.



100  Which of the following is not a part of chromosome?
(A) Satellite (B) F, particle
(C)  Centromere (D)  Chromatid
(E)  Question not attempted

SHIRTE (o) o1 freaforfiad & & i |1 v fewa (3fm) 78 22

(A)  #ewse (B) U, TTfeshat
(C) wgifwER (D) wEfeE
(E)  oFdia s

101 Nathu La Pass is situated in which State / UT of India?
(A) Meghalaya (B) Jammu and Kashmir
(C)  Sikkim (D)  Arunachal Pradesh
(E)  Question not attempted

AT I (GA) TR o fohdt T / SegrmTiiaet ot H ford 22

(A) TETAR (B) <R 3R FHR
(C) Tafewm (D) ST Fa=T
(E)  oFdia s
102  Who is the head of the Indian Audit and Accounts Department?
(A)  Finance Minister (B)  Comptroller and Auditor General of India
(C)  Prime Minister (D)  Attorney General of India
(E)  Question not attempted
IR TRET TR 7R o ot o e i 22
A) et (B)  ¥IRd o {1k U HRTeI@Taiersh
(C) vt (D) YT % HETATETET (1T STe)
() Srgaiayy
103 Which of the following is not a constitutional post?
(A) Governor (B)  The Chief Justice
(C) RBI Governor (D)  Speaker
(E)  Question not attempted
Frefafaa & @ =9 1 U Hartes g 72 22
(A) TSIIIA (B) 9 =mefiar
(C) ST 378 Mot (D)  TATHET TeAET (ST
(E)  oFeia
104  Which of the following is the largest inhabited riverine island in the world ?
(A) Majuli (B) Umananda
(C) Marajo (D) Doab

(E)  Question not attempted

T 3 & g o A gt e g A S A AT 2

(A) TSl (B)  SHH
(C) TSI (D)  greTTe
(E)  oFdia

All] 22 [ P.T.O.



105

106

107

108

109

110

Which of the following river is not a part of Indus River System ?
(A)  Chenab (B) Kosi
(C) Ravi (D)  Satlyj
(E)  Question not attempted

e 8 21 e et 1 ey et ST o 7 2

(A) = (B)

(C) et (D) FadS

(E)  oFdia

Which of the following Lake is not a Saline water lake in Rajasthan?

(A)  Sambhar (B) Didwana
(C) Pichola (D)  Pachpadra

(E)  Question not attempted

e o oot Y o o sfier @ e B sfier 78t R

(A) g™t (B) Srgamr
(C) To=re (fuste) (D) U=YET
(E) oFfdiays

Identify the most appropriate idiom which can replace the underlined words:

Rohit has the reputation of complicating and confusing things when any issue is raised in the meeting.

(A) asclear as mud (B) muddying the waters
(C)  in complete shambles (D)  got our wires crossed
(E)  Question not attempted

Identify the word that can best substitute the given expression:

One who is too strong to be defeated.

(A) Invulnerable (B) Indefatigable
(C) Insolvent (D) Invincible
(E)  Question not attempted

Identify the most appropriate antonym of the given word from below:

APATHY
(A)  Stoicism (B)  Stupor
(C)  Aloofness (D)  Fervor

(E)  Question not attempted

Amar and Akbar start walking in opposite direction. Amar walked 24 km and Akbar walked 7 km. Then Amar turned
left and walked 7 km and Akbar turned right and walked 24 km. How far is each of them from the starting point?
(A)  27km (B) 25km

(C) 26km (D) 3lkm

(E)  Question not attempted

FE ST FAehe Tl fammm o =t 37 foam | 31w 24 o, T, =1t 37K 31ehart 7 fop, WY, =1 | dedema 37 st 72T 3
7 Tor. Y. =t iR Sreher 21 qeat 24 fob. ot =1 | ST 310 o foig & oty ot v &2

(A) 27T = (B) 25T, =t
(C) 26TF. = (D) 31 f&. =t
(E)  oFdia
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111 A, B, C, D, E and F are sitting in a row facing north. E and F are in the center, and A and B are at the ends. C is sitting
on the immediate left of A. Who is sitting on the immediate right of B?
A, B, C, D, E 3R F U Ufth H 3t shT 3T 7@ Tk o 8| E 3R F 5 1 €, 3 A SR BB E| C, A % 31 913
T ST 81 B o 3Tk 31 T T 37 82
(A) E B) A
(C) F D) D
(E)  Question not attempted / ﬂgﬁﬁﬁ EE)

112 Which Indian Constitutional amendment raised the age of retirement of a High Court Judge from 60 to 62 years ?
(A) 15" Constitutional Amendment (B)  16™ Constitutional Amendment

(C) 17" Constitutional Amendment (D) 18" Constitutional Amendment

(E)  Question not attempted

Torer ST SforerT™ TR+ 3%a =ATATeRT o =TT i Har=ai i 3T 60 a9 &SGRt 62 T FL al?

(A) 153t dfaem demea (B)  16at wfarerm wume
(C)  17at dfarerm deme (D) 189 G wme
(E)  oFdia s
113 Match List-I with List-II.
List-1 List-1T
a. Goods and Service Tax L. Article 82
b. Delimitation Commission 1L Prime Minister
c. Survey of India III.  Dept. of Science and Technology
d. Dept. of Atomic Energy IV.  Article 246 A
F=fi-1 o | g=A-11 3T e i)
Heit-1 -1
a6 T HEATHR L Ag=se 82
b. U TR . Ja=est
c. YR TS (| AT gfeam) . fogm o Srenfiehr forsmr
d. AT IS T IV. 377588 246 A
Choose the most appropriate answer from the options given below:
et fau e forepedt o © waffarss 3ug Sl
(A) a-Lb-I,c-1Ld-1V (B) a-IV,b-Lec-1Id-1I
(C) a-IV,b-ILc-1Ld-1 (D) a-IL,b-1V,c-1,d-1I

(E)  Question not attempted / 3T EORSE )

114 FfaRead # & foAmesT 316 o1 @l €Y = 8-

(A) o + 3mer B) T+
(©) o+ smmew (D) fuar+ 3mew
(E)  oFdia s

115 “=Ter, v1sq f3he T T 3aTelor 27
(A) EHEATEh (B) <ARhaTae
(C) Sifar=e (D) WTEETES
() SAgaiays

116 T 38 & fora o amrra: fora 9 2ra 22
(A @ (B) M
(©) ¥ (D) =
(E)  oFeia
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117  First Indian spacecraft which will carry 3 members and will orbit for 3 days in space is :
(A) NISAR (B) Gaganyaan
(C)  Spadex (D) Bhaskar 3
(E)  Question not attempted

T WA AT ST 3 Ge&T ohl of ST 3 a8 Sqier o 3 faat o fom @

(A) T HAETHT AR (B) THAH
(C) T (D) =T 3
(E)  oFdia s

118  Which of the following is not the allotropes of carbon?
(A)  Fullerene (B)  Ethanol
(C)  Graphite (D) Diamond

(E)  Question not attempted

freferfiga o & SI-a e T SUTEy (Ueie) T 22

(A)  FerH (B) 3
(C) TwrEE (D) smEE
(E) IraRauy
119  Which of the following is responsible for the dark brown or reddish colour given by henna?
(A)  Luciferin (B)  Melanin
(C) Lawsone (D)  Hydroquinine

(E)  Question not attempted

TR IR TR T ST 2T T 7 3 ¥ Ffotiad o & i e T 2

(A) T (B) St
(C) dmEm (D) eSSl
() oFfdia s
120  Which of the following input device is used to input temperatures and moisture etc.?
(A) Webcam (B)  Scanners
(C)  Joystics (D)  Sensors

(E)  Question not attempted

freAfeTfiaa 5 & o9 |1 S92 IUHT0T HT STANT ATHH HIT HATEAT hl 6l (STY2) L o Torl Foharm SITefm € 2

(A)  d=H (B) W
(C) gt (D) W
() Srgaiays

121  Cyber security is also called, “Security of Information Technology”. It is used mainly to:
(A)  Connect different computers together
(B)  Used to share the resources on internet
(C)  Stop unauthorized access into various computers
(D)  Used to send letters by post
(E)  Question not attempted
WSS G BN, YA GrENfeRl skt geer, ot e S 2 e v Fefdfgd et oo fow e
SIGH %;
(A)  Torfore sl sh Toh-ga | SfreT
(B) ST T HATYA hl 319 H sffe § FANT o feTg
(C)  Tafir el o FTaeha ST ol ek o fTg
(D) T T STk g Ao % forg
() SAgaiays
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122 In which year the Indian Space Research Organisation (ISRO) was set up?
Frfafaa ® @ forg o # $fea™ we et SATHTSSIeH (ISRO) 3T SITHHT 3T 1% off?
(A) 1962 (B) 1969
(©) 1972 (D) 1952
(E)  Question not attempted / 3‘1’:!9?!'&?[ BES

123 SVAMITVA Scheme is associated with
(A)  Water conservation in urban areas.
(B)  Demarcation of inhabited land in rural areas.
(C)  Property survey scheme in rural areas.
(D)  Soil conservation in rural areas.
(E)  Question not attempted
(A)  TEd SATRT | STt HeEH
(B)  THIOT SeATRT H SIS S{{H HT AHIHT
(C)  TTHIuT ScATeRt | HRafR TEeIuT ST
(D) TITHIOT STRT T gt ohT Heequr

(E)  oFdia
124  National Panchayati Raj Day is celebrated on .
(A) 20 April (B) 22 April
(C) 24 April (D) 26 April
(E)  Question not attempted
T gt Tt feem I T ST &
(A) 2033 (B) 2233
(C) 24373 (D) 26 3IA
() SIgaiays
125  Choose the correct combination from below:
(A) IDBI - Short Term Loans (B) RBI-Long Term Loans
(C)  SBI - Monetary Policy (D)  RRB - Agricultural Finance
(E)  Question not attempted
Frerferfae & wrehfer ot o1 W
(A) o1E. €t ft. o1, - TeuhIfoTe U (B) Wt TS, - efepieres wur
(C) T ft . - Hifse Aifa (D) IR, I ff. - iy for
(E) oFfdia s

126 How many industries were reserved only for public sector before the deregulation of the Industrial Sector in 19917
(Choose the most appropriate option from below)
1901, ieitir art 3 FFeret & i, S et & 3 o Fery i svrefie o (et & vy e e <)
(A) 20 B) 14
© 24 D) 17
(E)  Question not attempted / @gﬁﬁ'ﬂ 94

127  The actual growth rate achieved in the 11% Five Year Plan was: (Choose the most appropriate option from below)
1 130T oerereffar o1 # fohet ameforeh g, 3T STH sht 157 (T 3 © Terl 3Ueh ferehied o)
A 9% B) 8%
© 7% (D) 10%
(E)  Question not attempted / 311?!'&?[ BE)
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128 GST Council is a Constitutional body established under the following article:
R T HT R TG Toh GerTieh fepr 2, Sreeh! T fFfrfiad § & forer stgese o 3twid ol 718 &7
(A) 279A (B) 184 (1)
(©) 247 (D) 122
(E)  Question not attempted / ﬂgﬁﬁﬁ EE)
129 Khadi Kamgar Arthik Protsahan Yojana has been implemented in the Rajasthan state from-
(A) 13 July, 2022 (B) 14 July, 2022
(C) 15 July, 2023 (D) 16 July, 2024
(E)  Question not attempted

TSTETE TS | Qe ST AT TedTe JISHT shel § Shifead ohl 782

(A) 133, 2022 (B) 143, 2022
(©) 153, 2023 (D) 16T, 2024
(E)  oFxia w
130  Match List-I with List-II :
List-I List-I1
Scheme Launched
a. Shudh ke liye youdh L. 26 October, 2020
b. Nirogi Rajasthan Abhiyan 1L 18 December, 2019
c. Indira Rasoi Yojana III. 20 August, 2020
d. Indira Gandhi urban credit IV. 24 February, 2021
card yojana
-1 o Ao -1 1 e Hifrg -
-1 eit-11
IS IERLERE]
a.  YEHfUIs L 263, 2020
b. Tl asem sifEm I 18 faEer, 2019
c. RIS [L 20 3T, 2020
d.  few el wred shfge 1€ Aemn IV. 24 %, 2021
Choose the most appropriate answer from the options given below:
et fo e foepedt & @ walfare 3ug ST |
(A) a-Lb-ILc-IId-IV (B) a-ILb-MLc-IV,d-I
(©) a-lLb-1V,c-1,d-1I (D) a-1V,b-Ill,c-1I,d-1

(E)  Question not attempted / 3T e
131 Indira Gandhi Nahar Project (IGNP) is better known as the life line of - (Choose the most appropriate option from

below)
(A)  Western Rajasthan (B)  Eastern Rajasthan
(C)  Northern Rajasthan (D)  Southern Rajasthan

(E)  Question not attempted

gfar el TeT aftErsHT (TS, St T, ) it Ffafaad o & foreehl sieay, Sfte @@ 991 Strar 82 (R # & 9ot 39

T =)

(A)  feHt TS (B) et Troteu
(C) STl T (D) ol Treteer
(E)  oFdia s

132 What is the food pattern ratio of GOZ and GOR in National Food Security Mission (NFSM) on wheat and pulses
launched in Rajasthan in the year 2007-2008?
TSEAT H a9 2007-2008 H FRF [T 7T 15 SR ST 6 TR el Gl R (T, T, TE. TH.) o T8 GOZ T GOR

3 T o e T ST 1 82
(A)  60:40 (B) 50:50
(€  70:30 (D) 80:20

(E)  Question not attempted / 341?1'?{?[ i)
All | 27 [ P.T.O.



133 Critical Minerals Summit 2024, was held in which of the following city / U.T.?
(A)  Mumbai (B) New Delhi
(C) Kolkata (D)  Chennai
(E)  Question not attempted

Torfeshet firted aier (|fie) 2024, fore Te / hgemféra yar # Srfera fomam mam?

(A) T8 (B) % facett
(C)  hicthrar (D) <%
(E) raRduy

134  Poona Pact 1932, was associated with which of the following Leaders?
(A) Mahatma Gandhi and Muhammad Ali Jinnah ~ (B)  Dr. Bhim Rao Ambedkar and Muhammad Ali Jinnah
(C) Mahatma Gandhi and Pt. Jawaharlal Nehru (D) Mahatma Gandhi and Dr. Bhim Rao Ambedkar
(E)  Question not attempted

AT EwET, 1932 FreAferRad & & for st & geifer o

(A)  wETeT el SR ErTe 3Teft fort (B) . iU TSRt ud HerHa 3Tt o=
(C)  weTenT e ud ufed Seretetret JeE (D) wreTeHT el ue 2. offe st
(E) 31aia gy
135  Who established Depressed Classes Association?
(A) Mahatma Gandhi (B)  Dr. Bhim Rao Ambedkar
(C)  Jawaharlal Nehru (D) Muhammad Ali Jinnah
(E)  Question not attempted
afera at dired, fore Termfua foram?
(A)  TETeHT Tieft (B)  Er.efime gt
(C) ST Te& (D)  TEwmE et o
(E) 31qaia gy
136  Choose the most appropriate option to complete the given sentence.
They withheld his results. He the proof of his age.
(A)  has not furnished (B)  had not furnished
(C)  didn’t furnish (D)  doesn’t furnish

(E)  Question not attempted

137  Choose the most appropriate option to complete the given sentence:

There was knock on door. I opened it and found small dark man in blue overcoat and
woollen cap.

(A) a, the, a, a (B) the, a, , the

(C) an,the, an, a (D) a,a, the, the

(E)  Question not attempted
138  Identify the most appropriate English translation of the given sentence:
T TS TSI & @M 6 ToTq aTet 11 T2
(A) He came out to eat a little fresh air. (B)  He came outside for a breath of fresh air.
(C)  He gulped some fresh air outside. (D)  Fresh air can be had only outside.
(E)  Question not attempted

139 f=feifiaa 8 @ -t safamt sene &

a. £ b. S

c. d d. q

€. q
e fo T fereredt # & wariferes IUgT ST T = I
(A) FaAb, c AT d (B) dada,c3ie
(C) Facda, d3fRe (D) FaAb,d3We
(E)  oFdia sy
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140

141

142

143

‘Deputation’ o T &t & womreles vreg -

(A) wfkitaRe (B) ®
(C)  gfcrfer (D) frafa
(E)  oFdia s

Arrange the following words according to dictionary arrangement:
fforfiaa sTeat ot SreaTarct (FeaT) STRITSH o STHR Fafeerd hife;:

a. Except b. Expect
c. Excess d. Exit
Choose the most appropriate answer from the options given below:
< g e et & & watferes wweres S
(A) b,d,ac (B) b,a,d,c
(C) «¢,d,a,b (D) a,cdb

(E)  Question not attempted / 3T e

Choose the venn diagram which best illustrates the three given classes:
8 o 3T T ST ¢ T i 3T bt Haitae & & g 2

Flowers, Red, Fruits

B, T, B
© (D)

(E)  Question not attempted / 3T e

There is a definite relationship between figures (i) and (ii). Establish a similar relationship between figures (iii) and
(iv) by selecting a suitable figure from the options. So select a figure from the options that would replace question
mark (?)

HATHH (i) 3 (if) % o= Tk TEra defer 3 foreredl § & ST SATH{ o1 == e STHH (iii) TR (iv) o o= G daie
T | SERTT fehicdl § & 36 STTR{d 3T = oL ST (?) T&Tog o1 €M |

Problem Figure / TH=IT SATehfd

OPIO) ?

(i) i i) (i)

. [& - [
- | . [

(E)  Question not attempted / 351':@'?{?[ 99
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144 National Rural Livelihood Mission (NRLM) is implemented to eradicate poverty for across the
Rajasthan state during the financial year 2022-2023.
(A)  rural poor (B)  urban poor
(C) tribal poor (D)  slum poor
(E)  Question not attempted
forfier o 2022-23 3 SR HqoT TSREeT ST § TSGR FTHTOT SATSHforeht R (T, I O, W) &1 fRameaae ot
Tl 3 o fore foram mam 21

(A)  TrHior e (B) el faedq
(C) ST fe (D) it gt e
() oFfdiays
145 Cooperative movement in Rajasthan region was started in the year . (Choose the most appropriate option
from below)
TSTEAT &5 H Teeh] SAG I ohl JEATd a9 7 g5 | (e 7 & e 3o forehed )
(A) 1904 (B) 1910
©) 1912 (D) 1914

(E)  Question not attempted

146  Given below are two statements:
Statement (I): Sodium metal is stored in kerosene oil because it is highly reactive.
Statement (II): Sodium metal reacts vigorously with nitrogen.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C)  Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.

(E)  Question not attempted

e 3t e few e €

AT (1): HiTSaH 7q 1 el o det & wufea fara S & wife 78 STt gfdfsrmers g 2|
AT (11): HITSTH Tq ATSZISH & T & Sffoham a2l

I e o AT 8, A< fw 1 et § & @a@ 3uges I FH|

(A) A (1) 3 e (11) ST T 2 (B) & (I) 3T e (11) ST &1 et &
(C) = (1) T R AT e (1) ol 21 (D) YA (1) TTeTd & AR e (I1) w21
(E) raRauy
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147 At the time of India’s Independence, how many Riyasat were there in present day Rajasthan (Rajputana Region)?
(Choose the most appropriate option from below)
TR 3h1 ESTT ST o6 SH, TS o TSR (TS &) | feoraet framea off 2 (R o & wee 3o foened <)
(A) 19 (B) 21
(©) 25 D) 29
(E)  Question not attempted / E@ﬂﬁﬁ e

148  ‘Indian National Army’ (INA) was created by- (Choose the most appropriate option from below)
(A) Lala Lajpat Rai (B) Bhagat Singh
(C) Bal Gangadhar Tilak (D)  Netaji Subhash Chandra Bose
(E)  Question not attempted

“3SIA AR ST (TS TF. T,) 1 T3 Tohtieh SR TR T 212 (1 | &/ 6ol SOIeh ferehed <)

(A)  TAT AT T (B) v fiz
(C) e TTTeR foeteh (D) TSIt gHTY =% |
(E) oFdia s
149  Name the person who went on a fast in 1952 demanding a separate State of Andhra and died during the fast.
(A) Potti Sriramulu (B)  Sriram Gandhi
(C) Ramlal Gaya (D) B. P. Sarabhai

(E)  Question not attempted

34 ATk 1 A AR 1952 H G2k 38T T hl TATIHT oh [oTT, TR T S8 T 9, 37 3R 6 S & I4h! A &

T off)

(A) el S (B)  sftum mift
(C) Tt T (D) =t ot T
(E) raRduy

150 Given below are two statements:
Statement (I): In the context of the revolt of 1857, the term revolt refers primarily to the uprising of the civilian
population.
Statement (II): Mutiny was a collective disobedience of rules and regulations within the armed forces.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Both Statement (I) and Statement (II) are correct.
(B)  Both Statement (I) and Statement (II) are incorrect.
(C)  Statement (I) is correct but Statement (II) is incorrect.
(D)  Statement (I) is incorrect but Statement (II) is correct.
(E)  Question not attempted
e @t e fegmu &
AT (1): 1857 % Tamie (W) o wawl & f51e 31ea o ARl e AT HATea! hi srad § 2
AT (I1): forsie (Ryfot) were s o e fremt i ot i amfess st of
SYUTh el oh 3TTeleh H, el o e foreredi § & ward 3ug® S |

(A) A (1) 3R FHeH (11) ST T 2 (B) & (I) 3R e (11) SHT &1 et &
(C) e (1) Tt & AR e (1) Teld 2l (D) A (I) TTeTd & Ao e (11) T 2
(E) g ys
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